# Finding symmetry identities for the 2-variable Apostol type polynomials 

Subuhi Khan ${ }^{1}$, Mumtaz Riyasat ${ }^{2, *}$ and Ghazala Yasmin ${ }^{3}$<br>${ }^{1,2}$ Department of Mathematics, Aligarh Muslim University, Aligarh, India<br>${ }^{3}$ Department of Applied Mathematics, Faculty of Engineering, Aligarh Muslim University, Aligarh, India<br>E-mail: subuhi2006@gmail.com ${ }^{1}$, mumtazrst@gmail.com ${ }^{2}$, ghazala30@gmail.com ${ }^{3}$


#### Abstract

The main aim of this article is to established certain symmetry identities for the 2 -variable Apostol type polynomials. The symmetry identities for some special polynomials related to the 2 -variable Apostol type polynomials are deduced as special cases. Certain interesting examples are considered to establish the symmetry identities for the 2 -variable Gould-Hopper-Apostol type, 2 -variable generalized Laguerre-Apostol type and 2 -variable truncated exponential-Apostol type polynomials. The special cases of the symmetry identities associated with these polynomials are also given.


2010 Mathematics Subject Classification. 33C45. 33E99
Keywords. Apostol type polynomials, 2 -variable Apostol type polynomials, symmetry identities.

## 1 Introduction and preliminaries

The special polynomials of two variables are useful from the point of view of applications in physics. Also, these polynomials allow the derivation of a number of useful identities in a fairly straight forward way and help in introducing new families of special polynomials. For example, Bretti et al. [3] introduced general classes of the Appell polynomials of two variables by using properties of an iterated isomorphism, related to the Laguerre-type exponentials. The 2-variable forms of the Hermite, Laguerre and truncated exponential polynomials as well as their generalizations are considered by several authors, see for example $[2,4-7,9]$.

In order to further stress the importance of the 2 -variable special polynomials, Subuhi Khan and Nusrat Raza [11] considered the 2 -variable general polynomials (2VGP) $p_{n}(x, y)$, which are defined by the generating function of the form:

$$
\begin{equation*}
e^{x t} \varphi(y, t)=\sum_{n=0}^{\infty} p_{n}(x, y) \frac{t^{n}}{n!}, p_{0}(x, y)=1, \tag{1.1}
\end{equation*}
$$

where $\varphi(y, t)$ has (at least the formal) series expansion

$$
\begin{equation*}
\varphi(y, t)=\sum_{n=0}^{\infty} \varphi_{n}(y) \frac{t^{n}}{n!}, \varphi_{0}(y) \neq 0 \tag{1.2}
\end{equation*}
$$

[^0]The 2VGP family $p_{n}(x, y)$ contains a number of important special polynomials of two variables. Generating functions and series definitions for certain members belonging to the 2VGP family are given in Table 1.

Table 1. Certain members belonging to the 2VGP $p_{n}(x, y)$ family.

| S.No. | $\varphi(y, t)$ | Name of the polynomials | Generating functions | Series definitions |
| :---: | :---: | :---: | :---: | :---: |
| I. | $e^{y t^{m}}$ | Gould-Hopper polynomials $H_{n}^{(m)}(x, y)$ [9] | $e^{x t+y t^{m}}=\sum_{n=0}^{\infty} H_{n}^{(m)}(x, y) \frac{t^{n}}{n!}$ | $H_{n}^{(m)}(x, y)=n!\sum_{k=0}^{\left[\frac{n}{m}\right]} \frac{y^{k} x^{n-m k}}{k!(n-m k)!}$ |
| II. | $e^{y t^{2}}$ | 2-variable Hermite Kampé <br> de Feriet polynomials $H_{n}(x, y)$ | $e^{x t+y t^{2}}=\sum_{n=0}^{\infty} H_{n}(x, y) \frac{t^{n}}{n!}$ | $H_{n}(x, y)=n!\sum_{k=0}^{\left[\frac{n}{2}\right]} \frac{y^{k} x^{n-2 k}}{k!(n-2 k)!}$ |
| III. | $C_{0}\left(-y t^{m}\right)$ | 2-variable generalized Laguerre polynomials $m L_{n}(y, x)$ [6] | $e^{x t} C_{0}\left(-y t^{m}\right)=\sum_{n=0}^{\infty} m L_{n}(y, x) \frac{t^{n}}{n!}$ | $m L_{n}(y, x)=n!\sum_{k=0}^{\left[\frac{n}{m}\right]} \frac{y^{k} x^{n-m k}}{(k!)^{2}(n-m k)!}$ |
| IV. | $C_{0}(y t)$ | 2-variable Laguerre polynomials $L_{n}(y, x)[4]$ | $e^{x t} C_{0}(y t)=\sum_{n=0}^{\infty} L_{n}(y, x) \frac{t^{n}}{n!}$ | $L_{n}(y, x)=n!\sum_{k=0}^{n} \frac{(-1)^{k} y^{k} x^{n-k}}{(k!)^{2}(n-k)!}$ |
| V. | $\frac{1}{1-y t^{r}}$ | 2 -variable truncated exponential polynomials of order $r, e_{n}^{(r)}(x, y)$ [7] | $\frac{e^{x t}}{1-y t^{t^{r}}}=\sum_{n=0}^{\infty} e_{n}^{(r)}(x, y) \frac{t^{n}}{n!}$ | $e_{n}^{(r)}(x, y)=n!\sum_{k=0}^{\left[\frac{n}{r}\right]} \frac{y^{k} x_{x}-r k}{(n-r k)!}$ |
| VI. | $\frac{1}{1-y t^{2}}$ | 2 -variable truncated exponential $[2]{ }^{e_{n}(x, y)}[5]$ | $\frac{e^{x t}}{1-y t^{2}}=\sum_{n=0}^{\infty}[2] e_{n}(x, y) \frac{t^{n}}{n!}$ | $[2] e_{n}(x, y)=n!\sum_{k=0}^{\left[\frac{n}{2}\right]} \frac{y^{k} x^{n-2 k}}{(n-2 k)!}$ |

Recently, Luo and Srivastava [16] introduced a unified family of the generalized Apostol type polynomials. The Apostol type polynomials (ATP) $\mathcal{F}_{n}^{(\alpha)}(x ; \lambda ; \mu, \nu)(\alpha \in \mathbb{N}, \lambda, \mu, \nu \in \mathbb{C})$ of order $\alpha$, are defined by the generating function of the form:

$$
\begin{equation*}
\left(\frac{2^{\mu} t^{\nu}}{\lambda e^{t}+1}\right)^{\alpha} e^{x t}=\sum_{n=0}^{\infty} \mathcal{F}_{n}^{(\alpha)}(x ; \lambda ; \mu, \nu) \frac{t^{n}}{n!},|t|<|\log (-\lambda)| \tag{1.3}
\end{equation*}
$$

The ATP $\mathcal{F}_{n}^{(\alpha)}(x ; \lambda ; \mu, \nu)$ are viewed as a unification and generalization of certain polynomials. We mention these polynomials in Table 2.

Table 2. Certain special cases of the $\operatorname{ATP} \mathcal{F}_{n}^{(\alpha)}(x ; \lambda ; \mu, \nu)$.

| S. No. | Values of the parameters | Relation between the ATP $\mathcal{F}_{n}^{(\alpha)}(x ; \lambda ; \mu, \nu)$ <br> and its special case | Name of the resultant <br> special polynomials | Generating functions |
| :---: | :---: | :---: | :---: | :---: |
| I. | $\begin{aligned} & \lambda \rightarrow-\lambda \\ & \mu=0, \quad \nu=1 \end{aligned}$ | $(-1)^{\alpha} \mathcal{F}_{n}^{(\alpha)}(x ;-\lambda ; 0,1)=\mathfrak{B}_{n}^{(\alpha)}(x ; \lambda)$ | Apostol-Bernoulli polynomials of order $\alpha, \mathfrak{B}_{n}^{(\alpha)}(x ; \lambda)$ [15] | $\begin{aligned} & \left(\frac{t}{\lambda e^{t}-1}\right)^{\alpha} e^{x t}=\sum_{n=0}^{\infty} \mathfrak{B}_{n}^{(\alpha)}(x ; \lambda) \frac{t^{n}}{n!} \\ & (\|t\|<\|\log \lambda\|) \end{aligned}$ |
| II. | $\mu=1, \quad \nu=0$ | $\mathcal{F}_{n}^{(\alpha)}(x ; \lambda ; 1,0)=\mathfrak{E}_{n}^{(\alpha)}(x ; \lambda)$ | Apostol-Euler polynomials of order $\alpha, \mathfrak{E}_{n}^{(\alpha)}(x ; \lambda)$ [13] | $\begin{aligned} & \left(\frac{2}{\lambda e^{t}+1}\right)^{\alpha} e^{x t}=\sum_{n=0}^{\infty} \mathfrak{E}_{n}^{(\alpha)}(x ; \lambda) \frac{t^{n}}{n!} \\ & (\|t\|<\|\log (-\lambda)\|) \end{aligned}$ |
| III. | $\mu=\nu=1$ | $\mathcal{F}_{n}^{(\alpha)}(x ; \lambda ; 1,1)=\mathcal{G}_{n}^{(\alpha)}(x ; \lambda)$ | Apostol-Genocchi polynomials of order $\alpha, \mathcal{G}_{n}^{(\alpha)}(x ; \lambda)$ [14] | $\begin{aligned} & \left(\frac{2 t}{\lambda e^{t}+1}\right)^{\alpha} e^{x t}=\sum_{n=0}^{\infty} \mathcal{G}_{n}^{(\alpha)}(x ; \lambda) \frac{t^{n}}{n!} \\ & (\|t\|<\|\log (-\lambda)\|) \end{aligned}$ |

We note that, for $\lambda=1$, the polynomials $\mathfrak{B}_{n}^{(\alpha)}(x ; \lambda)$, $\mathfrak{E}_{n}^{(\alpha)}(x ; \lambda)$ and $\mathcal{G}_{n}^{(\alpha)}(x ; \lambda)$ reduce to the Bernoulli polynomials of order $\alpha, B_{n}^{(\alpha)}(x)$, Euler polynomials of order $\alpha, E_{n}^{(\alpha)}(x)$ and Genocchi polynomials of order $\alpha, G_{n}^{(\alpha)}(x)$, which are defined by means of the following generating functions [8, 20]:

$$
\begin{align*}
& \left(\frac{t}{e^{t}-1}\right)^{\alpha} e^{x t}=\sum_{n=0}^{\infty} B_{n}^{(\alpha)}(x) \frac{t^{n}}{n!},|t|<2 \pi  \tag{1.4}\\
& \left(\frac{2}{e^{t}+1}\right)^{\alpha} e^{x t}=\sum_{n=0}^{\infty} E_{n}^{(\alpha)}(x) \frac{t^{n}}{n!},|t|<\pi  \tag{1.5}\\
& \left(\frac{2 t}{e^{t}+1}\right)^{\alpha} e^{x t}=\sum_{n=0}^{\infty} G_{n}^{(\alpha)}(x) \frac{t^{n}}{n!},|t|<\pi \tag{1.6}
\end{align*}
$$

respectively.
For $\alpha=1$, the polynomials $B_{n}^{(\alpha)}(x), E_{n}^{(\alpha)}(x)$ and $G_{n}^{(\alpha)}(x)$ reduce to the Bernoulli polynomials $B_{n}(x)$, Euler polynomials $E_{n}(x)$ and Genocchi polynomials $G_{n}(x)$, respectively.

In fact from (Table 2 (I, II and III)) and equations (1.4)-(1.6), we have the following relations:

$$
\begin{equation*}
\mathfrak{B}_{n}^{(\alpha)}(x ; 1)=B_{n}^{(\alpha)}(x) ; \mathfrak{E}_{n}^{(\alpha)}(x ; 1)=E_{n}^{(\alpha)}(x) ; \mathcal{G}_{n}^{(\alpha)}(x ; 1)=G_{n}^{(\alpha)}(x) \tag{1.7}
\end{equation*}
$$

Also, we note that

$$
\begin{equation*}
B_{n}^{(1)}(x)=B_{n}(x) ; E_{n}^{(1)}(x)=E_{n}(x) ; G_{n}^{(1)}(x)=G_{n}(x), n \in \mathbb{N}_{0}:=\mathbb{N} \cup\{0\} \tag{1.8}
\end{equation*}
$$

Recently, Khan at el. [12] introduced the 2-variable Apostol type polynomials (2VATP) of order $\alpha,{ }_{p} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)(\alpha \in \mathbb{N}, \lambda, \mu, \nu \in \mathbb{C})$ as the discrete Apostol type convolution of the $2 \operatorname{VGP} p_{n}(x, y)$. The $2 \operatorname{VATP}{ }_{p} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$ are defined by the following generating function [12, p.1372(2.1)]:

$$
\begin{equation*}
\left(\frac{2^{\mu} t^{\nu}}{\lambda e^{t}+1}\right)^{\alpha} e^{x t} \varphi(y, t)=\sum_{n=0}^{\infty}{ }_{p} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu) \frac{t^{n}}{n!},|t|<|\log (-\lambda)| \tag{1.9}
\end{equation*}
$$

By making suitable choice for the function $\varphi(y, t)$ in equation (1.9) and in view of Table 1, the generating function and other results for the corresponding member belonging to the 2VATP ${ }_{p} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$ are obtained in [12].

Yang in [22] derived symmetry identities for the Bernoulli polynomials of order, $\alpha B_{n}^{(\alpha)}(x)$. Further, Zhang and Yang in [23] derived certain symmetry identities for the polynomials $\mathfrak{B}_{n}^{(\alpha)}(x ; \lambda)$ and $\mathfrak{E}_{n}^{(\alpha)}(x ; \lambda)$ involving generalized sum of integer powers $\mathcal{S}_{k}(n ; \lambda)$ and generalized sum of alternative integer powers $\mathcal{M}_{k}(n ; \lambda)$. Certain results for the Apostol-Genocchi polynomials $\mathfrak{G}_{n}^{(\alpha)}(x ; \lambda)$ of higher order are obtained [10]. Further, Özarslan [17] also derived some symmetry identities for the unified Hermite-based Apostol polynomials ${ }_{H} \mathcal{P}_{n, \beta}^{(\alpha)}(x, y, z ; k, a, b)$.

We recall the following definitions considered in [23]:

Definition 1.1. For each integer $k \geq 0$, the $\operatorname{sum} S_{k}(n)=\sum_{i=0}^{n} i^{k}$ is known as the sum of integer powers or simply the power sum. The exponential generating function for $S_{k}(n)$ is given as:

$$
\begin{equation*}
\sum_{k=0}^{\infty} S_{k}(n) \frac{t^{k}}{k!}=1+e^{t}+e^{2 t}+\ldots+e^{n t}=\frac{e^{(n+1) t}-1}{e^{t}-1} \tag{1.10}
\end{equation*}
$$

Definition 1.2. For an arbitrary real or complex parameter $\lambda$, the generalized sum of integer powers $\mathcal{S}_{k}(n ; \lambda)$ is defined by the following generating function:

$$
\begin{equation*}
\frac{\lambda e^{(n+1) t}-1}{\lambda e^{t}-1}=\sum_{k=0}^{\infty} \mathcal{S}_{k}(n ; \lambda) \frac{t^{k}}{k!} \tag{1.11}
\end{equation*}
$$

From equations (1.10) and (1.11), it follows that

$$
\begin{equation*}
\mathcal{S}_{k}(n ; 1)=S_{k}(n) \tag{1.12}
\end{equation*}
$$

Definition 1.3. For each integer $k \geq 0$, the sum $M_{k}(n)=\sum_{i=0}^{n}(-1)^{k} i^{k}$ is known as the sum of alternative integer powers. The exponential generating function for $M_{k}(n)$ is given as:

$$
\begin{equation*}
\sum_{k=0}^{\infty} M_{k}(n) \frac{t^{k}}{k!}=1-e^{t}+e^{2 t}+\ldots+(-1)^{n} e^{n t}=\frac{1-\left(-e^{t}\right)^{(n+1)}}{e^{t}+1} \tag{1.13}
\end{equation*}
$$

Definition 1.4. For an arbitrary real or complex parameter $\lambda$, the generalized sum of alternative integer powers $\mathcal{M}_{k}(n ; \lambda)$ is defined by the following generating function:

$$
\begin{equation*}
\frac{1-\lambda\left(-e^{t}\right)^{(n+1)}}{\lambda e^{t}+1}=\sum_{k=0}^{\infty} \mathcal{M}_{k}(n ; \lambda) \frac{t^{k}}{k!} \tag{1.14}
\end{equation*}
$$

We note that

$$
\begin{equation*}
\mathcal{M}_{k}(n ; 1)=M_{k}(n) \tag{1.15}
\end{equation*}
$$

Also, for even $n$, we have

$$
\begin{equation*}
\mathcal{S}_{k}(n ;-\lambda)=\mathcal{M}_{k}(n ; \lambda) \tag{1.16}
\end{equation*}
$$

The importance of the 2 -variable forms of the special polynomials in applications and the work of Yang [22], Zhang and Yang [23] and Özarslan [17] on symmetry identities provides motivation to consider symmetry identities for more general families. In this article, symmetry identities for the $2 \operatorname{VATP}{ }_{p} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$ are derived. Further, by considering different members of the 2VGP $p_{n}(x, y)$, the symmetry identities for certain members belonging to this family are also derived.

## 2 Symmetry identities

In order to derive the symmetry identity for the $2 \operatorname{VATP}{ }_{p} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$, we prove the following result:

Theorem 2.1. For all integers $c, d>0$ and $n \geq 0, \alpha \geq 1, \lambda, \mu, \nu \in \mathbb{C}$, the following symmetry identity for the $2 \operatorname{VATP}{ }_{p} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$ holds true:

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} c^{n-k} d^{\nu+k}{ }_{p} \mathcal{F}_{n-k}^{(\alpha)}(d x, d y ; \lambda ; \mu, \nu) \sum_{l=0}^{k}\binom{k}{l} \mathcal{S}_{l}(c-1 ;-\lambda)_{p} \mathcal{F}_{k-l}^{(\alpha-1)}(c X, c Y ; \lambda ; \mu, \nu) \\
& =\sum_{k=0}^{n}\binom{n}{k} d^{n-k} c^{\nu+k}{ }_{p} \mathcal{F}_{n-k}^{(\alpha)}(c x, c y ; \lambda ; \mu, \nu) \sum_{l=0}^{k}\binom{k}{l} \mathcal{S}_{l}(d-1 ;-\lambda)_{p} \mathcal{F}_{k-l}^{(\alpha-1)}(d X, d Y ; \lambda ; \mu, \nu) \tag{2.1}
\end{align*}
$$

Proof. Let

$$
\begin{equation*}
G(t):=\frac{2^{\mu(2 \alpha-1)} t^{\nu(2 \alpha-1)} e^{c d x t} \varphi(y, c d t)\left(\lambda e^{c d t}+1\right) e^{c d X t} \varphi(Y, c d t)}{\left(\lambda e^{c t}+1\right)^{\alpha}\left(\lambda e^{d t}+1\right)^{\alpha}} \tag{2.2}
\end{equation*}
$$

which on rearranging the powers becomes

$$
\begin{equation*}
G(t)=\frac{1}{c^{\nu \alpha} d^{\nu(\alpha-1)}}\left(\frac{2^{\mu} c^{\nu} t^{\nu}}{\lambda e^{c t}+1}\right)^{\alpha} e^{c d x t} \varphi(y, c d t)\left(\frac{\lambda e^{c d t}+1}{\lambda e^{d t}+1}\right)\left(\frac{2^{\mu} d^{\nu} t^{\nu}}{\lambda e^{d t}+1}\right)^{\alpha-1} e^{c d X t} \varphi(Y, c d t) \tag{2.3}
\end{equation*}
$$

Since the expression (2.3) for $G(t)$ is symmetric in $c$ and $d$, therefore we can expand $G(t)$ into series in two ways. First, we consider the following expansion:

$$
\begin{equation*}
G(t)=\frac{1}{c^{\nu \alpha} d^{\nu(\alpha-1)}}\left(\frac{2^{\mu}(c t)^{\nu}}{\lambda e^{c t}+1}\right)^{\alpha} e^{c d x t} \varphi(d y, c t)\left(\frac{\lambda e^{c d t}+1}{\lambda e^{d t}+1}\right)\left(\frac{2^{\mu}(d t)^{\nu}}{\lambda e^{d t}+1}\right)^{\alpha-1} e^{c d X t} \varphi(c Y, d t) \tag{2.4}
\end{equation*}
$$

Using equations (1.9) and (1.11) in the r.h.s. of equation (2.4), we find

$$
\begin{align*}
G(t)= & \frac{1}{c^{\nu \alpha} d^{\nu(\alpha-1)}}\left(\sum_{n=0}^{\infty} p^{(\alpha)}(d x, d y ; \lambda ; \mu, \nu) \frac{(c t)^{n}}{n!}\right)\left(\sum_{l=0}^{\infty} \mathcal{S}_{l}(c-1 ;-\lambda) \frac{(d t)^{l}}{l!}\right) \\
& \times\left(\sum_{k=0}^{\infty} \mathcal{F}_{k}^{(\alpha-1)}(c X, c Y ; \lambda ; \mu, \nu) \frac{(d t)^{k}}{k!}\right), \tag{2.5}
\end{align*}
$$

which on using [21, p. 890 Corollary 2] gives

$$
\begin{align*}
G(t)= & \frac{1}{c^{\nu \alpha} d^{\nu \alpha}} \sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k} c^{n-k} d^{\nu+k}{ }_{p} \mathcal{F}_{n-k}^{(\alpha)}(d x, d y ; \lambda ; \mu, \nu) \sum_{l=0}^{k}\binom{k}{l} \mathcal{S}_{l}(c-1 ;-\lambda)\right. \\
& \left.\times_{p} \mathcal{F}_{k-l}^{(\alpha-1)}(c X, c Y ; \lambda ; \mu, \nu)\right) \frac{t^{n}}{n!} . \tag{2.6}
\end{align*}
$$

In view of symmetry of $c$ and $d$ in expression (2.2), we have another expansion of $G(t)$ as:

$$
\begin{equation*}
G(t)=\frac{1}{d^{\nu \alpha} c^{\nu(\alpha-1)}}\left(\frac{2^{\mu}(d t)^{\nu}}{\lambda e^{d t}+1}\right)^{\alpha} e^{c d x t} \varphi(c y, d t)\left(\frac{\lambda e^{c d t}+1}{\lambda e^{c t}+1}\right)\left(\frac{2^{\mu}(c t)^{\nu}}{\lambda e^{c t}+1}\right)^{\alpha-1} e^{c d X t} \varphi(d Y, c t) \tag{2.7}
\end{equation*}
$$

which on using equations (1.9) and (1.11) in the r.h.s. gives

$$
\begin{align*}
G(t)= & \frac{1}{d^{\nu \alpha} c^{\nu(\alpha-1)}}\left(\sum_{n=0}^{\infty} \mathcal{F}_{n}^{(\alpha)}(c x, c y ; \lambda ; \mu, \nu) \frac{(d t)^{n}}{n!}\right)\left(\sum_{l=0}^{\infty} \mathcal{S}_{l}(d-1 ;-\lambda) \frac{(c t)^{l}}{l!}\right)  \tag{2.8}\\
& \times\left(\sum_{k=0}^{\infty} \mathcal{F}_{k}^{(\alpha-1)}(d X, d Y ; \lambda ; \mu, \nu) \frac{(c t)^{k}}{k!}\right) .
\end{align*}
$$

Consequently, we have

$$
\begin{align*}
G(t)= & \frac{1}{d^{\nu \alpha} c^{\nu \alpha}} \sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k} d^{n-k} c^{\nu+k}{ }_{p} \mathcal{F}_{n-k}^{(\alpha)}(c x, c y ; \lambda ; \mu, \nu) \sum_{l=0}^{k}\binom{k}{l} \mathcal{S}_{l}(d-1 ;-\lambda)\right. \\
& \left.\times{ }_{p} \mathcal{F}_{k-l}^{(\alpha-1)}(d X, d Y ; \lambda ; \mu, \nu)\right) \frac{t^{n}}{n!} \tag{2.9}
\end{align*}
$$

Equating the coefficients of same powers of $t$ in r.h.s. of expansions (2.6) and (2.9), we are led to assertion (2.1).
Q.E.D.

Next, we establish another symmetry identity for the $2 \operatorname{VATP}{ }_{p} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$ by proving the following result:

Theorem 2.2. For each pair of positive integers $c, d$ and for all integers $n \geq 0, \alpha \geq 1, \lambda, \mu, \nu \in \mathbb{C}$, the following symmetry identity for the $2 \operatorname{VATP}_{p} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$ holds true:

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{c-1} \sum_{j=0}^{d-1}(-\lambda)^{i+j} c^{k} d^{n-k} \mathcal{F}_{k}^{(\alpha)}\left(d x+\frac{d}{c} i, d y ; \lambda ; \mu, \nu\right){ }_{p} \mathcal{F}_{n-k}^{(\alpha)}\left(c X+\frac{c}{d} j, c Y ; \lambda ; \mu, \nu\right) \\
= & \sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{d-1} \sum_{j=0}^{c-1}(-\lambda)^{i+j} d^{k} c^{n-k} \mathcal{F}_{k}^{(\alpha)}\left(c x+\frac{c}{d} i, c y ; \lambda ; \mu, \nu\right){ }_{p} \mathcal{F}_{n-k}^{(\alpha)}\left(d X+\frac{d}{c} j, d Y ; \lambda ; \mu, \nu\right) . \tag{2.10}
\end{align*}
$$

Proof. Let

$$
\begin{equation*}
H(t):=\frac{2^{2 \mu \alpha} t^{2 \nu \alpha} e^{c d x t} \varphi(y, c d t)\left(\lambda^{c} e^{c d t}+1\right)\left(\lambda^{d} e^{c d t}+1\right) e^{c d X t} \varphi(Y, c d t)}{\left(\lambda e^{c t}+1\right)^{\alpha+1}\left(\lambda e^{d t}+1\right)^{\alpha+1}} \tag{2.11}
\end{equation*}
$$

which on rearranging the powers becomes

$$
\begin{equation*}
H(t)=\frac{1}{c^{\nu \alpha} d^{\nu \alpha}}\left(\frac{2^{\mu} c^{\nu} t^{\nu}}{\lambda e^{c t}+1}\right)^{\alpha} e^{c d x t} \varphi(y, c d t)\left(\frac{\lambda^{c} e^{c d t}+1}{\lambda e^{d t}+1}\right)\left(\frac{2^{\mu} d^{\nu} t^{\nu}}{\lambda e^{d t}+1}\right)^{\alpha} e^{c d X t} \varphi(Y, c d t)\left(\frac{\lambda^{d} e^{c d t}+1}{\lambda e^{c t}+1}\right) \tag{2.12}
\end{equation*}
$$

Since expression (2.12) for $H(t)$ is symmetric in $c$ and $d$, therefore we can expand $H(t)$ into series in two ways. First, we consider the following expansion:

$$
\begin{equation*}
H(t)=\frac{1}{c^{\nu \alpha} d^{\nu \alpha}}\left(\frac{2^{\mu} c^{\nu} t^{\nu}}{\lambda e^{c t}+1}\right)^{\alpha} e^{c d x t} \varphi(d y, c t)\left(\frac{\lambda^{c} e^{c d t}+1}{\lambda e^{d t}+1}\right)\left(\frac{2^{\mu} d^{\nu} t^{\nu}}{\lambda e^{d t}+1}\right)^{\alpha} e^{c d X t} \varphi(c Y, d t)\left(\frac{\lambda^{d} e^{c d t}+1}{\lambda e^{c t}+1}\right) \tag{2.13}
\end{equation*}
$$

Now, using the series expansions for $\left(\frac{\lambda^{c} e^{c d t}+1}{\lambda e^{d t}+1}\right)$ and $\left(\frac{\lambda^{d} e^{c d t}+1}{\lambda e^{c t}+1}\right)$ in the r.h.s. of equation (2.13), we find

$$
\begin{equation*}
H(t)=\frac{1}{c^{\nu \alpha} d^{\nu \alpha}}\left(\frac{2^{\mu}(c t)^{\nu}}{\lambda e^{c t}+1}\right)^{\alpha} e^{c d x t} \varphi(d y, c t) \sum_{i=0}^{c-1}(-\lambda)^{i} e^{d t i}\left(\frac{2^{\mu}(d t)^{\nu}}{\lambda e^{d t}+1}\right)^{\alpha} e^{c d X t} \varphi(c Y, d t) \sum_{j=0}^{d-1}(-\lambda)^{j} e^{c t j} \tag{2.14}
\end{equation*}
$$

Combining the exponential terms in the above equation, we have

$$
\begin{align*}
H(t)= & \frac{1}{\bar{c}^{\nu \alpha} d^{\nu \alpha}} \sum_{i=0}^{c-1}(-\lambda)^{i}\left(\frac{2^{\mu}(c t)^{\nu}}{\lambda e^{c t}+1}\right)^{\alpha} e^{\left(d x+\frac{d}{c} i\right) c t} \varphi(d y, c t) \sum_{j=0}^{d-1}(-\lambda)^{j}\left(\frac{2^{\mu}(d t)^{\nu}}{\lambda e^{d t}+1}\right)^{\alpha}  \tag{2.15}\\
& \times e^{\left(c X+\frac{c}{d} j\right) d t} \varphi(c Y, d t),
\end{align*}
$$

which on using equation (1.9) becomes

$$
\begin{align*}
H(t)= & \frac{1}{c^{\nu \alpha} d^{\nu \alpha}}\left(\sum_{i=0}^{c-1}(-\lambda)^{i} \sum_{n=0}^{\infty} p \mathcal{F}_{n}^{(\alpha)}\left(d x+\frac{d}{c} i, d y ; \lambda ; \mu, \nu\right) \frac{(c t)^{n}}{n!}\right) \\
& \times\left(\sum_{j=0}^{d-1}(-\lambda)^{j} \sum_{n=0}^{\infty} p \mathcal{F}_{n}^{(\alpha)}\left(c X+\frac{c}{d} j, c Y ; \lambda ; \mu, \nu\right) \frac{(d t)^{n}}{n!}\right) . \tag{2.16}
\end{align*}
$$

Applying the Cauchy product rule in the r.h.s. of equation (2.16), we find

$$
\begin{align*}
H(t)= & \frac{1}{c^{\nu \alpha} d^{\nu \alpha}} \sum_{n=0}^{\infty} \sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{c-1} \sum_{j=0}^{d-1}(-\lambda)^{i+j} c^{k} d^{n-k}{ }_{p} \mathcal{F}_{k}^{(\alpha)}\left(d x+\frac{d}{c} i, d y ; \lambda ; \mu, \nu\right)  \tag{2.17}\\
& \times{ }_{p} \mathcal{F}_{n-k}^{(\alpha)}\left(c X+\frac{c}{d} j, c Y ; \lambda ; \mu, \nu\right) \frac{t^{n}}{n!} .
\end{align*}
$$

Using the similar plan, we obtain the second expansion of $H(t)$ as:

$$
\begin{align*}
H(t) & =\frac{1}{c^{\nu \alpha} d^{\nu \alpha}} \sum_{n=0}^{\infty} \sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{d-1} \sum_{j=0}^{c-1}(-\lambda)^{i+j} d^{k} c^{n-k}{ }_{p} \mathcal{F}_{k}^{(\alpha)}\left(c x+\frac{c}{d} i, c y ; \lambda ; \mu, \nu\right)  \tag{2.18}\\
& \times{ }_{p} \mathcal{F}_{n-k}^{(\alpha)}\left(d X+\frac{d}{c} j, d Y ; \lambda ; \mu, \nu\right) \frac{t^{n}}{n!} .
\end{align*}
$$

Equating the coefficients of same powers of $t$ in r.h.s. of expansions (2.17) and (2.18), we are led to assertion (2.10).
Q.E.D.

Remark 2.1. In view of the special cases of the ATP $\mathcal{F}_{n}^{(\alpha)}(x ; \lambda ; \mu, \nu)$ given in Table 2, the corresponding 2-variable Apostol type polynomials are defined in [12, p.1374(Table 2.1)]. Thus, by taking suitable values of the parameters in identities (2.1) and (2.10) of the 2VATP ${ }_{p} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$, the symmetry identities for the corresponding special cases can be obtained. We present the symmetry identities for these special cases in Table 3.

Table 3. Symmetry identities for the polynomials ${ }_{p} \mathfrak{B}_{n}^{(\alpha)}(x, y ; \lambda),{ }_{p} \mathfrak{E}_{n}^{(\alpha)}(x, y ; \lambda)$ and ${ }_{p} \mathcal{G}_{n}^{(\alpha)}(x, y ; \lambda)$.

| S. No. | Values of the parameters | Relation between <br> the 2VATP <br> $p_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$ <br> and its special case | Name of the resultant special polynomials | Symmetry identities for the polynomials $p \mathfrak{B}_{n}^{(\alpha)}(x, y ; \lambda),{ }_{p} \mathfrak{E}_{n}^{(\alpha)}(x, y ; \lambda)$ and $p \mathcal{G}_{n}^{(\alpha)}(x, y ; \lambda)$ |
| :---: | :---: | :---: | :---: | :---: |
| I. | $\begin{aligned} & \lambda \rightarrow-\lambda \\ & \mu=0 \\ & \nu=1 \end{aligned}$ | $\begin{aligned} & (-1)^{\alpha} \\ & p \mathcal{F}_{n}^{(\alpha)}(x, y ;-\lambda ; 0,1) \\ & ={ }_{p} \mathfrak{B}_{n}^{(\alpha)}(x, y ; \lambda) \end{aligned}$ | 2-variable <br> Apostol- <br> Bernoulli <br> polynomials <br> (2VABP) of order $\alpha$ | $\begin{aligned} & \sum_{k=0}^{n}\binom{n}{k} c^{n-k} d^{\nu+k} p_{\mathfrak{B}_{n-k}^{(\alpha)}}^{(d x, d y ; \lambda)} \sum_{l=0}^{k}\binom{k}{l} \mathcal{S}_{l}(c-1 ; \lambda)_{p} \mathfrak{B}_{k-l}^{(\alpha-1)}(c X, c Y ; \lambda) \\ & =\sum_{k=0}^{n}\binom{n}{k} d^{n-k} c^{\nu+k} p \mathfrak{B}_{n-k}^{(\alpha)}(c x, c y ; \lambda) \sum_{l=0}^{k}\binom{k}{l} \mathcal{S}_{l}(d-1 ; \lambda) p \mathfrak{B}_{k-l}^{(\alpha-1)}(d X, d Y ; \lambda) \end{aligned}$ <br> and $\begin{aligned} & \sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{c-1} \sum_{j=0}^{d-1}(\lambda)^{i+j} c^{k} d^{n-k} p \mathfrak{B}_{k}^{(\alpha)}\left(d x+\frac{d}{c} i, d y ; \lambda\right) p \mathfrak{B}_{n-k}^{(\alpha)}\left(c X+\frac{c}{d} j, c Y ; \lambda\right) \\ & \sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{d-1} \sum_{j=0}^{c-1}(\lambda)^{i+j} d^{k} c^{n-k} p \mathfrak{B}_{k}^{(\alpha)}\left(c x+\frac{c}{d} i, c y ; \lambda\right) p \mathfrak{B}_{n-k}^{(\alpha)}\left(d X+\frac{d}{c} j, d Y ; \lambda\right) \end{aligned}$ |
| II. | $\begin{aligned} & \mu=1 \\ & \nu=0 \end{aligned}$ | $\begin{aligned} & p \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; 1,0) \\ & ={ }_{p} \mathfrak{E}_{n}^{(\alpha)}(x, y ; \lambda) \end{aligned}$ | 2-variable <br> Apostol- <br> Euler <br> polynomials <br> (2VAEP) of order $\alpha$ | $\begin{aligned} & \sum_{k=0}^{n}\binom{n}{k} c^{n-k} d^{\nu+k} p_{p}^{(\alpha)}(d x, d y ; \lambda) \sum_{l=0}^{k}\binom{k}{l} \mathcal{M}_{l}(c-1 ; \lambda)_{p} \mathfrak{E}_{k-l}^{(\alpha-1)}(c X, c Y ; \lambda) \\ & =\sum_{k=0}^{n}\binom{n}{k} d^{n-k} c^{\nu+k} p_{p} \mathfrak{E}_{n-k}^{(\alpha)}(c x, c y ; \lambda) \sum_{l=0}^{k}\binom{k}{l} \mathcal{M}_{l}(d-1 ; \lambda)_{p} \mathfrak{E}_{k-l}^{(\alpha-1)}(d X, d Y ; \lambda) \\ & \text { and } \\ & \sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{c-1} \sum_{j=0}^{d-1}(-\lambda)^{i+j} c^{k} d^{n-k} p \mathfrak{E}_{k}^{(\alpha)}\left(d x+\frac{d}{c} i, d y ; \lambda\right)_{p} \mathfrak{E}_{n-k}^{(\alpha)}\left(c X+\frac{c}{d} j, c Y ; \lambda\right) \\ & \sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{d-1} \sum_{j=0}^{c-1}(-\lambda)^{i+j} d^{k} c^{n-k} p \mathfrak{E}_{k}^{(\alpha)}\left(c x+\frac{c}{d} i, c y ; \lambda\right) p \mathfrak{E}_{n-k}^{(\alpha)}\left(d X+\frac{d}{c} j, d Y ; \lambda\right) \end{aligned}$ |
| III. | $\begin{aligned} & \mu=1 \\ & \nu=1 \end{aligned}$ | $\begin{aligned} & p \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; 1,1) \\ & ={ }_{p} \mathcal{G}_{n}^{(\alpha)}(x, y ; \lambda) \end{aligned}$ | 2-variable <br> Apostol- <br> Genocchi <br> polynomials <br> (2VAGP) of <br> order $\alpha$ | $\begin{aligned} & \sum_{k=0}^{n}\binom{n}{k} c^{n-k} d^{\nu+k}{ }_{p} \mathcal{G}_{n-k}^{(\alpha)}(d x, d y ; \lambda) \sum_{l=0}^{k}\binom{k}{l} \mathcal{M}_{l}(c-1 ; \lambda)_{p} \mathcal{G}_{k-l}^{(\alpha-1)}(c X, c Y ; \lambda) \\ & =\sum_{k=0}^{n}\binom{n}{k} d^{n-k} c^{\nu+k}{ }_{p} \mathcal{G}_{n-k}^{(\alpha)}(c x, c y ; \lambda) \sum_{l=0}^{k}\binom{k}{l} \mathcal{M}_{l}(d-1 ; \lambda)_{p} \mathcal{G}_{k-l}^{(\alpha-1)}(d X, d Y ; \lambda) \\ & \text { and } \\ & \sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{c-1} \sum_{j=0}^{d-1}(-\lambda)^{i+j} c^{k} d^{n-k}{ }_{p} \mathcal{G}_{k}^{(\alpha)}\left(d x+\frac{d}{c} i, d y ; \lambda\right)_{p} \mathcal{G}_{n-k}^{(\alpha)}\left(c X+\frac{c}{d} j, c Y ; \lambda\right) \\ & \sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{d-1} \sum_{j=0}^{c-1}(-\lambda)^{i+j} d^{k} c^{n-k}{ }_{p} \mathcal{G}_{k}^{(\alpha)}\left(c x+\frac{c}{d} i, c y ; \lambda\right)_{p} \mathcal{G}_{n-k}^{(\alpha)}\left(d X+\frac{d}{c} j, d Y ; \lambda\right) \end{aligned}$ |

Remark 2.2. We note that, for $\lambda=1$ and in view of relations (1.7) and (1.12), the symmetry identities for the $2 \operatorname{VABP}{ }_{p} \mathfrak{B}_{n}^{(\alpha)}(x, y ; \lambda), 2 \operatorname{VAEP}_{p} \mathfrak{E}_{n}^{(\alpha)}(x, y ; \lambda)$ and $2 \operatorname{VAGP}_{p} \mathcal{G}_{n}^{(\alpha)}(x, y ; \lambda)$ reduce to the corresponding identities for the 2-variable Bernoulli polynomials (2VBP) (of order $\alpha$ ) ${ }_{p} B_{n}^{(\alpha)}(x, y)$, 2 -variable Euler polynomials (2VEP) (of order $\alpha)_{p} E_{n}^{(\alpha)}(x, y)$ and 2 -variable Genocchi polynomials (2VGP) (of order $\alpha)_{p} G_{n}^{(\alpha)}(x, y)$, respectively.

Remark 2.3. Again, we note that for $\lambda=\alpha=1$ and in view of relations (1.7), (1.8) and (1.12), the identities mentioned in Table 3 for the $2 \operatorname{VABP}_{p} \mathfrak{B}_{n}^{(\alpha)}(x, y ; \lambda), 2 \mathrm{VAEP}_{p} \mathfrak{E}_{n}^{(\alpha)}(x, y ; \lambda)$ and 2VAGP ${ }_{p} \mathcal{G}_{n}^{(\alpha)}(x, y ; \lambda)$ reduce to the corresponding identities for the 2 -variable Bernoulli polynomials (2VBP) ${ }_{p} B_{n}(x, y), 2$-variable Euler polynomials (2VEP) ${ }_{p} E_{n}(x, y)$ and 2 -variable Genocchi polynomials (2VGP) ${ }_{p} G_{n}(x, y)$.

In the next section, symmetry identities for certain members belonging to the family of 2VATP ${ }_{p} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$ are derived.

## 3 Examples

The members belonging to the 2VGP family are given in Table 1. It has been shown in [12], that corresponding to each member belonging to the family of $2 \mathrm{VGP} p_{n}(x, y)$, there is a new special polynomial belonging to the $2 \operatorname{VATP}_{p} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$ family.

In order to derive the symmetry identities for these members, we consider the following examples:
Example 3.1. By taking $\varphi(y, t)=e^{y t^{m}}$ (Table 1 (I)) in the l.h.s. of generating function (1.9), we get the following generating function for the 2 -variable Gould-Hopper-Apostol type polynomials $(2 \mathrm{VGHATP})_{H^{(m)}} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)[12, \mathrm{p} .1375(3.1)]:$

$$
\begin{equation*}
\left(\frac{2^{\mu} t^{\nu}}{\lambda e^{t}+1}\right)^{\alpha} e^{x t+y t^{m}}=\sum_{n=0}^{\infty}{ }_{H^{(m)}} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu) \frac{t^{n}}{n!} \tag{3.1}
\end{equation*}
$$

To derive the symmetry identities for the 2VGHATP ${ }_{H^{(m)}} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$, we prove the following results:

Theorem 3.1. For all integers $c, d>0$ and $n \geq 0, \alpha \geq 1, \lambda, \mu, \nu \in \mathbb{C}$, the following symmetry identity for the 2VGHATP $H_{H^{(m)}} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$ holds true:

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} c^{n-k} d^{\nu+k}{ }_{H^{(m)}} \mathcal{F}_{n-k}^{(\alpha)}\left(d x, d^{m} y ; \lambda ; \mu, \nu\right) \sum_{l=0}^{k}\binom{k}{l} \mathcal{S}_{l}(c-1 ;-\lambda)_{H^{(m)}} \mathcal{F}_{k-l}^{(\alpha-1)}\left(c X, c^{m} Y ; \lambda ; \mu, \nu\right) \\
& =\sum_{k=0}^{n}\binom{n}{k} d^{n-k} c^{\nu+k}{ }_{H}^{(m)} \mathcal{F}_{n-k}^{(\alpha)}\left(c x, c^{m} y ; \lambda ; \mu, \nu\right) \sum_{l=0}^{k}\binom{k}{l} \mathcal{S}_{l}(d-1 ;-\lambda)_{H^{(m)}} \mathcal{F}_{k-l}^{(\alpha-1)}\left(d X, d^{m} Y ; \lambda ; \mu, \nu\right) \tag{3.2}
\end{align*}
$$

Proof. Taking $\varphi(y, c d t)=e^{y(c d t)^{m}}$ and $\varphi(Y, c d t)=e^{Y(c d t)^{m}}$ in expression (2.2) of $G(t)$, we have

$$
\begin{equation*}
G_{1}(t):=\frac{2^{\mu(2 \alpha-1)} t^{\nu(2 \alpha-1)} e^{c d x t+y(c d t)^{m}}\left(\lambda e^{c d t}+1\right) e^{c d X t+Y(c d t)^{m}}}{\left(\lambda e^{c t}+1\right)^{\alpha}\left(\lambda e^{d t}+1\right)^{\alpha}} \tag{3.3}
\end{equation*}
$$

Rearranging the powers in expression (3.3), we find

$$
\begin{equation*}
G_{1}(t)=\frac{1}{c^{\nu \alpha} d^{\nu(\alpha-1)}}\left(\frac{2^{\mu} c^{\nu} t^{\nu}}{\lambda e^{c t}+1}\right)^{\alpha} e^{c d x t+y(c d t)^{m}}\left(\frac{\lambda e^{c d t}+1}{\lambda e^{d t}+1}\right)\left(\frac{2^{\mu} d^{\nu} t^{\nu}}{\lambda e^{d t}+1}\right)^{\alpha-1} e^{c d X t+Y(c d t)^{m}} \tag{3.4}
\end{equation*}
$$

Since the expression (3.4) for $G_{1}(t)$ is symmetric in $c$ and $d$. Therefore $G_{1}(t)$ can be expanded into series in two ways. Consider the expansion

$$
\begin{equation*}
G_{1}(t)=\frac{1}{c^{\nu \alpha} d^{\nu(\alpha-1)}}\left(\frac{2^{\mu} c^{\nu} t^{\nu}}{\lambda e^{c t}+1}\right)^{\alpha} e^{d x c t+d^{m} y(c t)^{m}}\left(\frac{\lambda e^{c d t}+1}{\lambda e^{d t}+1}\right)\left(\frac{2^{\mu} d^{\nu} t^{\nu}}{\lambda e^{d t}+1}\right)^{\alpha-1} e^{c X d t+c^{m} Y(d t)^{m}} \tag{3.5}
\end{equation*}
$$

which in view of equations (1.11) and (3.1) becomes

$$
\begin{align*}
G_{1}(t)= & \frac{1}{c^{\nu \alpha} d^{\nu(\alpha-1)}}\left(\sum_{n=0 H^{(m)}}^{\infty} \mathcal{F}_{n}^{(\alpha)}\left(d x, d^{m} y ; \lambda ; \mu, \nu\right) \frac{(c t)^{n}}{n!}\right)\left(\sum_{l=0}^{\infty} \mathcal{S}_{l}(c-1 ;-\lambda) \frac{(d t)^{l}}{l!}\right)  \tag{3.6}\\
& \times\left(\sum_{k=0 H^{(m)}}^{\infty} \mathcal{F}_{k}^{(\alpha-1)}\left(c X, c^{m} Y ; \lambda ; \mu, \nu\right) \frac{(d t)^{k}}{k!}\right) .
\end{align*}
$$

Again, using [21, p. 890 Corollary 2], we find

$$
\begin{align*}
G_{1}(t)= & \frac{1}{c^{\nu \alpha} d^{\nu \alpha}} \sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k} c^{n-k} d^{\nu+k}{ }_{H}(m)\right. \\
& \left.\times_{H^{(m)}}^{(\alpha)} \mathcal{F}_{k-l}^{(\alpha-1)}\left(c X, c^{m} Y ; \lambda ; \mu, \nu\right)\right) \frac{t^{n}}{n!} \tag{3.7}
\end{align*}
$$

Using a similar plan, we have

$$
\begin{align*}
G_{1}(t)= & \frac{1}{d^{\nu \alpha} c^{\nu \alpha}} \sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k} d^{n-k} c^{\nu+k}{ }_{H}(m)\right. \\
& \left.\times_{H^{(m)}}^{(\alpha)} \mathcal{F}_{k-l}^{(\alpha-1)}\left(d X, d^{m} Y ; \lambda ; \mu, \nu\right)\right) \frac{t^{n}}{n!} . \tag{3.8}
\end{align*}
$$

Equating the coefficients of same powers of $t$ in r.h.s. of expansions (3.7) and (3.8), we are led to assertion (3.2).
Q.E.D.

Theorem 3.2. For each pair of positive integers $c, d$ and for all integers $n \geq 0, \alpha \geq 1, \lambda, \mu, \nu \in \mathbb{C}$, the following symmetry identity for the 2VGHATP ${ }_{H^{(m)}} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$ holds true:

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{c-1} \sum_{j=0}^{d-1}(-\lambda)^{i+j} c^{k} d^{n-k} H^{(m)} \mathcal{F}_{k}^{(\alpha)}\left(d x+\frac{d}{c} i, d^{m} y ; \lambda ; \mu, \nu\right)_{H^{(m)}} \mathcal{F}_{n-k}^{(\alpha)}\left(c X+\frac{c}{d} j, c^{m} Y ; \lambda ; \mu, \nu\right) \\
& =\sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{d-1} \sum_{j=0}^{c-1}(-\lambda)^{i+j} d^{k} c^{n-k} H_{H^{(m)}} \mathcal{F}_{k}^{(\alpha)}\left(c x+\frac{c}{d} i, c^{m} y ; \lambda ; \mu, \nu\right)_{H^{(m)}} \mathcal{F}_{n-k}^{(\alpha)}\left(d X+\frac{d}{c} j, d^{m} Y ; \lambda ; \mu, \nu\right) . \tag{3.9}
\end{align*}
$$

Proof. Taking $\varphi(y, c d t)=e^{y(c d t)^{m}}$ and $\varphi(Y, c d t)=e^{Y(c d t)^{m}}$ in expression (2.11) of $H(t)$, we have

$$
\begin{equation*}
H_{1}(t):=\frac{2^{2 \mu \alpha} t^{2 \nu \alpha} e^{c d x t} e^{y(c d t)^{m}}\left(\lambda^{c} e^{c d t}+1\right)\left(\lambda^{d} e^{c d t}+1\right) e^{c d X t} e^{Y(c d t)^{m}}}{\left(\lambda e^{c t}+1\right)^{\alpha+1}\left(\lambda e^{d t}+1\right)^{\alpha+1}} \tag{3.10}
\end{equation*}
$$

Rearranging the powers in expression (3.10), we find
$H_{1}(t)=\frac{1}{c^{\nu \alpha} d^{\nu \alpha}}\left(\frac{2^{\mu} c^{\nu} t^{\nu}}{\lambda e^{c t}+1}\right)^{\alpha} e^{c d x t+y(c d t)^{m}}\left(\frac{\lambda^{c} e^{c d t}+1}{\lambda e^{d t}+1}\right)\left(\frac{2^{\mu} d^{\nu} t^{\nu}}{\lambda e^{d t}+1}\right)^{\alpha} e^{c d X t+Y(c d t)^{m}}\left(\frac{\lambda^{d} e^{c d t}+1}{\lambda e^{c t}+1}\right)$.
Since the expression (3.11) for $H_{1}(t)$ is symmetric in $c$ and $d$. Therefore, $H_{1}(t)$ can be expanded into series in two ways. Consider the expansion
$H_{1}(t)=\frac{1}{c^{\nu \alpha} d^{\nu \alpha}}\left(\frac{2^{\mu} c^{\nu} t^{\nu}}{\lambda e^{c t}+1}\right)^{\alpha} e^{d x c t+d^{m} y(c t)^{m}}\left(\frac{\lambda^{c} e^{c d t}+1}{\lambda e^{d t}+1}\right)\left(\frac{2^{\mu} d^{\nu} t^{\nu}}{\lambda e^{d t}+1}\right)^{\alpha} e^{d X c t+d^{m} Y(c t)^{m}}\left(\frac{\lambda^{d} e^{c d t}+1}{\lambda e^{c t}+1}\right)$.
Now, using the series expansions for $\left(\frac{\lambda^{c} e^{c d t}+1}{\lambda e^{d t}+1}\right)$ and $\left(\frac{\lambda^{d} e^{c d t}+1}{\lambda e^{c t}+1}\right)$ in the r.h.s. of above equation, we find

$$
\begin{equation*}
H_{1}(t)=\frac{1}{c^{\nu \alpha} d^{\nu \alpha}}\left(\frac{2^{\mu}(c t)^{\nu}}{\lambda e^{c t}+1}\right)^{\alpha} e^{d x c t+d^{m} y(c t)^{m}} \sum_{i=0}^{c-1}(-\lambda)^{i} e^{d t i}\left(\frac{2^{\mu}(d t)^{\nu}}{\lambda e^{d t}+1}\right)^{\alpha} e^{d X c t+d^{m} Y(c t)^{m}} \sum_{j=0}^{d-1}(-\lambda)^{j} e^{c t j} \tag{3.13}
\end{equation*}
$$

Combining the exponential terms in the above equation, we have
$H_{1}(t)=\frac{1}{c^{\nu \alpha} d^{\nu \alpha}} \sum_{i=0}^{c-1}(-\lambda)^{i}\left(\frac{2^{\mu}(c t)^{\nu}}{\lambda e^{c t}+1}\right)^{\alpha} e^{\left(d x+\frac{d}{c} i\right) c t+d^{m} y(c t)^{m}} \sum_{j=0}^{d-1}(-\lambda)^{j}\left(\frac{2^{\mu}(d t)^{\nu}}{\lambda e^{d t}+1}\right)^{\alpha} e^{\left(c X+\frac{c}{d} j\right) d t+c^{m} Y(d t)^{m}}$,
which on using equation (3.1) becomes

$$
\begin{align*}
H_{1}(t)= & \frac{1}{c^{\nu \alpha} d^{\nu \alpha}}\left(\sum_{i=0}^{c-1}(-\lambda)^{i} \sum_{n=0}^{\infty} H^{(m)} \mathcal{F}_{n}^{(\alpha)}\left(d x+\frac{d}{c} i, d^{m} y ; \lambda ; \mu, \nu\right) \frac{(c t)^{n}}{n!}\right) \\
& \times\left(\sum_{j=0}^{d-1}(-\lambda)^{j} \sum_{n=0}^{\infty} H^{(m)} \mathcal{F}_{n}^{(\alpha)}\left(c X+\frac{c}{d} j, c^{m} Y ; \lambda ; \mu, \nu\right) \frac{(d t)^{n}}{n!}\right) \tag{3.15}
\end{align*}
$$

Applying the Cauchy product rule in the r.h.s. of equation (3.15), we find

$$
\begin{align*}
H_{1}(t)= & \frac{1}{c^{\nu \alpha} d^{\nu \alpha}} \sum_{n=0}^{\infty} \sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{c-1} \sum_{j=0}^{d-1}(-\lambda)^{i+j} c^{k} d^{n-k}{ }_{H^{(m)}} \mathcal{F}_{k}^{(\alpha)}\left(d x+\frac{d}{c} i, d^{m} y ; \lambda ; \mu, \nu\right)  \tag{3.16}\\
& \times{ }_{H^{(m)}} \mathcal{F}_{n-k}^{(\alpha)}\left(c X+\frac{c}{d} j, c^{m} Y ; \lambda ; \mu, \nu\right) \frac{t^{n}}{n!} .
\end{align*}
$$

Using a similar plan, we obtain the second expansion of $H_{1}(t)$ as:

$$
\begin{align*}
H_{1}(t)= & \frac{1}{c^{\nu \alpha} d^{\nu \alpha}} \sum_{n=0}^{\infty} \sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{d-1} \sum_{j=0}^{c-1}(-\lambda)^{i+j} d^{k} c^{n-k} H_{H^{(m)}} \mathcal{F}_{k}^{(\alpha)}\left(c x+\frac{c}{d} i, c^{m} y ; \lambda ; \mu, \nu\right)  \tag{3.17}\\
& \times H_{H^{(m)}} \mathcal{F}_{n-k}^{(\alpha)}\left(d X+\frac{d}{c} j, d^{m} Y ; \lambda ; \mu, \nu\right) \frac{t^{n}}{n!} .
\end{align*}
$$

Equating the coefficients of same powers of $t$ in r.h.s. of expansions (3.16) and (3.17), we are led to assertion (3.9).
Q.E.D.

Remark 3.1. By taking suitable values of the parameters in identities (3.2) and (3.9) and in view of relations given in Table 3 (I-III), the symmetry identities for the special cases of $H_{H^{(m)}} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$ can be obtained.

Remark 3.2. We know that for $m=2$, the GHP $H_{n}^{(m)}(x, y)$ reduce to 2-variable Hermite Kampé de Feriet polynomials (2VHKdFP) $H_{n}(x, y)$ (Table 1 (II)). Therefore, taking $m=2$ in symmetry identities (3.2) and (3.9) of the 2VGHATP ${ }_{H}{ }^{(m)} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$, we find the symmetry identities for the 2 -variable Hermite-Apostol type polynomials (2VHATP) ${ }_{H} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$. These identities can also be viewed as particular cases of the identities obtained in [17]. Further, taking suitable values of the parameters in identities of the $2 \operatorname{VHATP}_{H} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$ and in view of relations given in Table 3 (I-III), we obtain the symmetry identities for the special cases of the 2VHATP ${ }_{H} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$, see for example $[17,19]$.

Remark 3.3. We know that for $x \rightarrow 2 x$ and $y=-1$, the 2 VHKdFP $H_{n}(x, y)$ reduce to the classical Hermite polynomials $H_{n}(x)$ [1]. Therefore, taking $x \rightarrow 2 x$ and $y=-1$ in identities of the 2VHATP ${ }_{H} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$, we obtain the symmetry identities for the Hermite-Apostol type polynomials,
which may be denoted by ${ }_{H} \mathcal{F}_{n}^{(\alpha)}(x ; \lambda ; \mu, \nu)$. Further, taking suitable values of the parameters in identities of the ${ }_{H} \mathcal{F}_{n}^{(\alpha)}(x ; \lambda ; \mu, \nu)$, the corresponding symmetry identities for the special cases of ${ }_{H} \mathcal{F}_{n}^{(\alpha)}(x ; \lambda ; \mu, \nu)$ can be obtained, see for example [18].

Example 3.2. By taking $\varphi(y, t)=C_{0}\left(-y t^{m}\right)$ (Table 1 (III)) in the l.h.s. of generating function (1.9), we get the following generating function for the 2 -variable generalized Laguerre-Apostol type polynomials (2VGLATP) ${ }_{m} \mathcal{F}_{n}^{(\alpha)}(y, x ; \lambda ; \mu, \nu)$ [12, p.1377(3.4)]:

$$
\begin{equation*}
\left(\frac{2^{\mu} t^{\nu}}{\lambda e^{t}+1}\right)^{\alpha} e^{x t} C_{0}\left(-y t^{m}\right)=\sum_{n=0}^{\infty}{ }_{m L} \mathcal{F}_{n}^{(\alpha)}(y, x ; \lambda ; \mu, \nu) \frac{t^{n}}{n!} \tag{3.18}
\end{equation*}
$$

We derive the symmetry identities for the 2 VGLATP ${ }_{m L} \mathcal{F}_{n}^{(\alpha)}(y, x ; \lambda ; \mu, \nu)$ by proving the following results:
Theorem 3.3. For all integers $c, d>0$ and $n \geq 0, \alpha \geq 1, \lambda, \mu, \nu \in \mathbb{C}$, the following symmetry identity for the 2VGLATP ${ }_{m} L \mathcal{F}_{n}^{(\alpha)}(y, x ; \lambda ; \mu, \nu)$ holds true:

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} c^{n-k} d^{\nu+k}{ }_{m} L \mathcal{F}_{n-k}^{(\alpha)}\left(d^{m} y, d x ; \lambda ; \mu, \nu\right) \sum_{l=0}^{k}\binom{k}{l} \mathcal{S}_{l}(c-1 ;-\lambda)_{m} L \mathcal{F}_{k-l}^{(\alpha-1)}\left(c^{m} Y, c X ; \lambda ; \mu, \nu\right) \\
& =\sum_{k=0}^{n}\binom{n}{k} d^{n-k} c^{\nu+k}{ }_{m}{ }^{2} \mathcal{F}_{n-k}^{(\alpha)}\left(c^{m} y, c x ; \lambda ; \mu, \nu\right) \sum_{l=0}^{k}\binom{k}{l} \mathcal{S}_{l}(d-1 ;-\lambda)_{m L} \mathcal{F}_{k-l}^{(\alpha-1)}\left(d^{m} Y, d X ; \lambda ; \mu, \nu\right) \tag{3.19}
\end{align*}
$$

Proof. Taking $\varphi(y, c d t)=C_{0}\left(-y(c d t)^{m}\right)$ and $\varphi(Y, c d t)=C_{0}\left(-Y(c d t)^{m}\right)$ in expression (2.2) of $G(t)$, we have

$$
\begin{equation*}
G_{2}(t):=\frac{2^{\mu(2 \alpha-1)} t^{\nu(2 \alpha-1)} e^{c d x t} C_{0}\left(-y(c d t)^{m}\right)\left(\lambda e^{c d t}+1\right) e^{c d X t} C_{0}\left(-Y(c d t)^{m}\right)}{\left(\lambda e^{c t}+1\right)^{\alpha}\left(\lambda e^{d t}+1\right)^{\alpha}} \tag{3.20}
\end{equation*}
$$

Now, rearranging the powers in expression (3.20) of $G_{2}(t)$ and using the fact that $G_{2}(t)$ is symmetric in $c$ and $d$, we can obtain two expansions of $G_{2}(t)$ as in Theorem 3.1. Finally, equating the coefficients of same powers of $t$ in these expansions, we get assertion (3.19).
Q.E.D.

Theorem 3.4. For each pair of positive integers $c, d$ and for all integers $n \geq 0, \alpha \geq 1, \lambda, \mu, \nu \in \mathbb{C}$, the following symmetry identity for the 2VGLATP ${ }_{m}{ }_{L} \mathcal{F}_{n}^{(\alpha)}(y, x ; \lambda ; \mu, \nu)$ holds true:

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{c-1} \sum_{j=0}^{d-1}(-\lambda)^{i+j} c^{k} d^{n-k}{ }_{m}{ }^{\mathcal{F}_{k}^{(\alpha)}}\left(d^{m} y, d x+\frac{d}{c} i ; \lambda ; \mu, \nu\right)_{m L} \mathcal{F}_{n-k}^{(\alpha)}\left(c^{m} Y, c X+\frac{c}{d} j ; \lambda ; \mu, \nu\right) \\
& =\sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{d-1} \sum_{j=0}^{c-1}(-\lambda)^{i+j} d^{k} c^{n-k}{ }_{m} L \mathcal{F}_{k}^{(\alpha)}\left(c^{m} y, c x+\frac{c}{d} i ; \lambda ; \mu, \nu\right)_{m}{ }^{2} \mathcal{F}_{n-k}^{(\alpha)}\left(d^{m} Y, d X+\frac{d}{c} j ; \lambda ; \mu, \nu\right) \tag{3.21}
\end{align*}
$$

Proof. Taking $\varphi(y, c d t)=C_{0}\left(-y(c d t)^{m}\right)$ and $\varphi(Y, c d t)=C_{0}\left(-Y(c d t)^{m}\right)$ in expression (2.11) of $H(t)$, we have

$$
\begin{equation*}
H_{2}(t):=\frac{2^{2 \mu \alpha} t^{2 \nu \alpha} e^{c d x t} C_{0}\left(-y(c d t)^{m}\right)\left(\lambda^{c} e^{c d t}+1\right)\left(\lambda^{d} e^{c d t}+1\right) e^{c d X t} C_{0}\left(-Y(c d t)^{m}\right)}{\left(\lambda e^{c t}+1\right)^{\alpha+1}\left(\lambda e^{d t}+1\right)^{\alpha+1}} . \tag{3.22}
\end{equation*}
$$

[^1]Now, rearranging the powers in expression (3.22) of $H_{2}(t)$ and using the fact that $H_{2}(t)$ is symmetric in $c$ and $d$, we can obtain two expansions of $H_{2}(t)$ as in Theorem 3.2. Finally, equating the coefficients of same powers of $t$ in these expansions, we get assertion (3.21).

Remark 3.4. By taking suitable values of the parameters in identities (3.19) and (3.21) and in view of relations Table 3 (I-III), the symmetry identities for the special cases of the ${ }_{m}{ }_{L} \mathcal{F}_{n}^{(\alpha)}(y, x ; \lambda ; \mu, \nu)$ can be obtained.

Remark 3.5. We know that for $m=1$ and $y \rightarrow-y$, the $2 \operatorname{VGLP}_{m} L_{n}(y, x)$ reduce to the 2 -variable Laguerre polynomials $L_{n}(y, x)$ (Table 1 (IV)). Therefore, taking $m=1$ and $y \rightarrow-y$ in symmetry identities (3.19) and (3.21) of the 2VGLATP ${ }_{m}{ }_{L} \mathcal{F}_{n}^{(\alpha)}(y, x ; \lambda ; \mu, \nu)$, we obtain the symmetry identities for the 2 -variable Laguerre-Apostol type polynomials (2VLATP) ${ }_{L} \mathcal{F}_{n}^{(\alpha)}(y, x ; \lambda ; \mu, \nu)$.

Further, taking suitable values of the parameters in identities for the ${ }_{L} \mathcal{F}_{n}^{(\alpha)}(y, x ; \lambda ; \mu, \nu)$ and in view of relations given in Table 3 (I-III), we obtain the symmetry identities for the special cases of the 2VLATP ${ }_{L} \mathcal{F}_{n}^{(\alpha)}(y, x ; \lambda ; \mu, \nu)$.

Remark 3.6. We know that for $x=1$, the $2 \mathrm{VLP} L_{n}(y, x)$ reduce to the classical Laguerre polynomials $L_{n}(y)$ [1]. Therefore, taking $x=1$ in identities for the ${ }_{L} \mathcal{F}_{n}^{(\alpha)}(y, x ; \lambda ; \mu, \nu)$, we obtain the corresponding identities for the Laguerre-Apostol type polynomials, which may be denoted by ${ }_{L} \mathcal{F}_{n}^{(\alpha)}(y ; \lambda ; \mu, \nu)$.

Further, taking suitable values of the parameters in identities of the ${ }_{L} \mathcal{F}_{n}^{(\alpha)}(y ; \lambda ; \mu, \nu)$, the corresponding symmetry identities for the special cases of ${ }_{L} \mathcal{F}_{n}^{(\alpha)}(y ; \lambda ; \mu, \nu)$ can be obtained.

Example 3.3. By taking $\varphi(y, t)=\frac{1}{1-y t^{r}}$ and $\varphi(Y, t)=\frac{1}{1-Y t^{r}}$ (Table $\left.1(\mathrm{~V})\right)$ in the l.h.s. of generating function (1.9), we get the following generating function for the 2 -variable truncated exponential-Apostol type polynomials (2VTEATP) ${ }_{e^{(r)}} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$ [12, p.1377(3.7)]:

$$
\begin{equation*}
\left(\frac{2^{\mu} t^{\nu}}{\lambda e^{t}+1}\right)^{\alpha}\left(\frac{e^{x t}}{1-y t^{r}}\right)=\sum_{n=0}^{\infty} e^{(r)} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu) \frac{t^{n}}{n!} \tag{3.23}
\end{equation*}
$$

We derive the symmetry identities of 2VTEATP ${ }_{e^{(r)}} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$ by proving the following results:

Theorem 3.5. For all integers $c, d>0$ and $n \geq 0, \alpha \geq 1, \lambda, \mu, \nu \in \mathbb{C}$, the following symmetry identity for the 2VTEATP ${ }_{e^{(r)}} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$ holds true:

$$
\begin{align*}
& \sum_{k=0}^{n} \sum_{l=0}^{k}\binom{n}{k}\binom{k}{l} c^{n-k} d^{\nu+k} e_{e(r)} \mathcal{F}_{n-k}^{(\alpha)}\left(d x, d^{r} y ; \lambda ; \mu, \nu\right) S_{l}(c-1 ;-\lambda)_{e(r)} \mathcal{F}_{k-l}^{(\alpha-1)}\left(c X, c^{r} Y ; \lambda ; \mu, \nu\right) \\
& =\sum_{k=0}^{n} \sum_{l=0}^{k}\binom{n}{k}\binom{k}{l} d^{n-k} c^{\nu+k} e_{e(r)} \mathcal{F}_{n-k}^{(\alpha)}\left(c x, c^{r} y ; \lambda ; \mu, \nu\right) S_{l}(d-1 ;-\lambda)_{e^{(r)}} \mathcal{F}_{k-l}^{(\alpha-1)}\left(d X, d^{r} Y ; \lambda ; \mu, \nu\right) \tag{3.24}
\end{align*}
$$

Proof. Taking $\varphi(y, c d t)=\frac{1}{1-y(c d t)^{r}}$ and $\varphi(Y, c d t)=\frac{1}{1-Y(c d t)^{r}}$ in expression (2.2) of $G(t)$, we have

$$
\begin{equation*}
G_{3}(t):=\frac{2^{\mu(2 \alpha-1)} t^{\nu(2 \alpha-1)} e^{c d x t} \frac{1}{1-y(c d t)^{r}}\left(\lambda e^{c d t}+1\right) e^{c d X t} \frac{1}{1-Y(c d t)^{r}}}{\left(\lambda e^{c t}+1\right)^{\alpha}\left(\lambda e^{d t}+1\right)^{\alpha}} . \tag{3.25}
\end{equation*}
$$

Now, rearranging the powers in expression (3.25) of $G_{3}(t)$ and using the fact that $G_{3}(t)$ is symmetric in $c$ and $d$, we can obtain two expansions of $G_{3}(t)$ as in Theorem 3.1. Finally, equating the coefficients of same powers of $t$ in these expansions, we get assertion (3.24). Q.E.D.

Theorem 3.6. For each pair of positive integers $c, d$ and for all integers $n \geq 0, \alpha \geq 1, \lambda, \mu, \nu \in \mathbb{C}$, the following symmetry identity for the 2VTEATP ${ }_{e^{(r)}} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$ holds true:

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{c-1} \sum_{j=0}^{d-1}(-\lambda)^{i+j} c^{k} d^{n-k} e^{(r)} \mathcal{F}_{k}^{(\alpha)}\left(d x+\frac{d}{c} i, d^{r} y ; \lambda ; \mu, \nu\right) e^{(r)} \mathcal{F}_{n-k}^{(\alpha)}\left(c X+\frac{c}{d} j, c^{r} Y ; \lambda ; \mu, \nu\right) \\
& =\sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{d-1} \sum_{j=0}^{c-1}(-\lambda)^{i+j} d^{k} c^{n-k} e^{(r)} \mathcal{F}_{k}^{(\alpha)}\left(c x+\frac{c}{d} i, c^{r} y ; \lambda ; \mu, \nu\right)_{e^{(r)}} \mathcal{F}_{n-k}^{(\alpha)}\left(d X+\frac{d}{c} j, d^{r} Y ; \lambda ; \mu, \nu\right) . \tag{3.26}
\end{align*}
$$

Proof. Taking $\varphi(y, c d t)=\frac{1}{1-y(c d t)^{r}}$ and $\varphi(Y, c d t)=\frac{1}{1-Y(c d t)^{r}}$ in expression (2.11) of $H(t)$, we have

$$
\begin{equation*}
H_{3}(t):=\frac{2^{2 \mu \alpha} t^{2 \nu \alpha} e^{c d x t} \frac{1}{1-y(c d t)^{r}}\left(\lambda^{c} e^{c d t}+1\right)\left(\lambda^{d} e^{c d t}+1\right) e^{c d X t} \frac{1}{1-Y(c d t)^{r}}}{\left(\lambda e^{c t}+1\right)^{\alpha+1}\left(\lambda e^{d t}+1\right)^{\alpha+1}} \tag{3.27}
\end{equation*}
$$

Now, rearranging the powers in expression (3.27) of $H_{3}(t)$ and using the fact that $H_{3}(t)$ is symmetric in $c$ and $d$, we can obtain two expansions of $H_{3}(t)$ as in Theorem 3.2. Finally, equating the coefficients of same powers of $t$ in these expansions, we get assertion (3.26).
Q.E.D.

Remark 3.7. By taking suitable values of the parameters in identities (3.24) and (3.26) and in view of relations Table 3 (I-III), the symmetry identities for the special cases of the $e_{e^{(r)}} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$ can be obtained.

Remark 3.8. We know that for $r=2$, the 2VTEP $e^{(r)}(x, y)$ of order $r$ reduce to the 2VTEP ${ }_{[2]} e_{n}(x, y)$ (Table $1(\mathrm{VI})$ ). Therefore, taking $r=2$ in symmetry identities (3.24) and (3.26) of the 2VTEATP ${ }_{e^{(r)}} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$, we obtain the symmetry identities for the ${ }_{[22]} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$. Further, taking suitable values of the parameters in identities of the ${ }_{[2]} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$ and in view of relations given in Table 3 (I-III), we obtain the symmetry identities for the special cases of ${ }_{[2]}{ }^{-} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$.

Remark 3.9. We know that for $y=1$, the $2 \operatorname{VTEP}_{[2]} e_{n}(x, y)$ reduce to the truncated exponential polynomials ${ }_{[2]} e_{n}(x)$ [5]. Therefore, taking $y=1$ in the identities of the ${ }_{[2]} \mathcal{F}_{n}^{(\alpha)}(x, y ; \lambda ; \mu, \nu)$, we obtain the corresponding identities for the truncated exponential Apostol type polynomials, which may be denoted by ${ }_{[2]} \mathcal{F}_{n}^{(\alpha)}(x ; \lambda ; \mu, \nu)$. Further, taking suitable values of the parameters in
identities of the ${ }_{[2]} \mathcal{F}_{n}^{(\alpha)}(x ; \lambda ; \mu, \nu)$, the corresponding symmetry identities for the special cases of ${ }_{[2]} \mathcal{F}_{n}^{(\alpha)}(x ; \lambda ; \mu, \nu)$ can be obtained.

The Bernoulli, Euler and Genocchi numbers $B_{n}, E_{n}$ and $G_{n}$ have deep connections with number theory and occur in combinatorics. These numbers appear as special values of the Bernoulli, Euler and Genocchi polynomials $B_{n}(x), E_{n}(x)$ and $G_{n}(x)$, respectively given as

$$
\begin{equation*}
B_{n}:=B_{n}(0):=B_{n}^{(1)}(0) ; E_{n}:=E_{n}(0):=E_{n}^{(1)}(0) ; G_{n}:=G_{n}(0):=G_{n}^{(1)}(0), \tag{3.28}
\end{equation*}
$$

respectively.
The Apostol type numbers of order $\alpha$ denoted by $\mathcal{F}_{n}^{(\alpha)}(\lambda ; \mu, \nu)$ are defined by the generating function

$$
\begin{equation*}
\left(\frac{2^{\mu} t^{\nu}}{\lambda e^{t}+1}\right)^{\alpha}=\sum_{n=0}^{\infty} \mathcal{F}_{n}^{(\alpha)}(\lambda ; \mu, \nu) \frac{t^{n}}{n!},|t|<|\log (-\lambda)| \tag{3.29}
\end{equation*}
$$

Consequently, from equations (1.3) and (3.29), we have

$$
\begin{equation*}
\mathcal{F}_{n}^{(\alpha)}(\lambda ; \mu, \nu):=\mathcal{F}_{n}^{(\alpha)}(0 ; \lambda ; \mu, \nu) \tag{3.30}
\end{equation*}
$$

In view of the special cases mentioned in Table 2 and using the fact that

$$
\begin{equation*}
\mathfrak{B}_{n}^{(\alpha)}(0 ; \lambda)=\mathfrak{B}_{n}^{(\alpha)}(\lambda) ; \mathfrak{E}_{n}^{(\alpha)}(0 ; \lambda)=\mathfrak{E}_{n}^{(\alpha)}(\lambda) ; \mathcal{G}_{n}^{(\alpha)}(0 ; \lambda)=\mathcal{G}_{n}^{(\alpha)}(\lambda), \tag{3.31}
\end{equation*}
$$

where $\mathfrak{B}_{n}^{(\alpha)}(\lambda), \mathfrak{E}_{n}^{(\alpha)}(\lambda)$ and $\mathcal{G}_{n}^{(\alpha)}(\lambda)$ denote the Apostol-Bernoulli, Apostol-Euler and ApostolGenocchi numbers of order $\alpha$, respectively, we have the following special cases of $\mathcal{F}_{n}^{(\alpha)}(\lambda ; \mu, \nu)$ [12]:

$$
\begin{equation*}
(-1)^{\alpha} \mathcal{F}_{n}^{(\alpha)}(-\lambda ; 0,1)=\mathfrak{B}_{n}^{(\alpha)}(\lambda) ; \mathcal{F}_{n}^{(\alpha)}(\lambda ; 1,0)=\mathfrak{E}_{n}^{(\alpha)}(\lambda) ; \mathcal{F}_{n}^{(\alpha)}(\lambda ; 1,1)=\mathcal{G}_{n}^{(\alpha)}(\lambda) \tag{3.32}
\end{equation*}
$$

The Hermite Apostol type numbers (HATN) of order $\alpha,{ }_{H} \mathcal{F}_{n}^{(\alpha)}(\lambda ; \mu, \nu)$ are defined as [12]:

$$
\begin{equation*}
{ }_{H} \mathcal{F}_{n}^{(\alpha)}(\lambda ; \mu, \nu)=\sum_{k=0}^{n}\binom{n}{k} \mathcal{F}_{n-k}^{(\alpha)}(\lambda ; \mu, \nu) H_{k}, \tag{3.33}
\end{equation*}
$$

where $H_{k}:=H_{k}(0)$ are the Hermite numbers. We also note that [12, p.1380(4.12)]:

$$
\begin{equation*}
{ }_{H} \mathcal{F}_{n}^{(\alpha)}(0 ; \lambda ; \mu, \nu):={ }_{H} \mathcal{F}_{n}^{(\alpha)}(\lambda ; \mu, \nu) . \tag{3.34}
\end{equation*}
$$

The importance of the numbers related to the polynomials provides motivation to establish the results for the HATN ${ }_{H} \mathcal{F}_{n}^{(\alpha)}(\lambda ; \mu, \nu)$ of order $\alpha$ and the numbers related to other special polynomials considered in this paper. This aspect may be taken in further investigation.

## Acknowledgements

The authors would like to thank the anonymous referee for his (her) valuable comments and suggestions towards the improvement of this paper.

## References

[1] L.C. Andrews, Special Functions for Engineers and Applied Mathematicians, Macmillan Publishing Company, New York, 1985.
[2] P. Appell, J. Kampé de Fériet, Fonctions Hypergéométriques et Hypersphériques: Polynômes d' Hermite, Gauthier-Villars, Paris, 1926.
[3] G. Bretti, C. Cesarano, P.E. Ricci, Laguerre-type exponentials and generalized Appell polynomials, Comput. Math. Appl. 48(2004), 833-839.
[4] G. Dattoli, Hermite-Bessel and Laguerre-Bessel functions: a by-product of the monomiality principle, Advanced Special functions and applications, (Melfi, 1999), 147-164, Proc. Melfi Sch. Adv. Top. Math. Phys., 1, Aracne, Rome, 2000.
[5] G. Dattoli, C. Cesarano, D. Sacchetti, A note on truncated polynomials, Appl. Math. Comput. 134 (2003) 595-605.
[6] G. Dattoli, S. Lorenzutta, A.M. Mancho, A. Torre, Generalized polynomials and associated operational identities, J. Comput. Appl. Math. 108(1-2) (1999) 209-218.
[7] G. Dattoli, M. Migliorati, H.M. Srivastava, A class of Bessel summation formulas and associated operational methods, Frac. Appl. Anal. 7(2) (2004) 169-176.
[8] A. Erdélyi, W. Magnus, F. Oberhettinger, F.G. Tricomi, Higher Transcendental Functions, Vol. III, McGraw-Hill Book Company, New York, Toronto and London, 1955.
[9] H.W. Gould, A.T. Hopper, Operational formulas connected with two generalization of Hermite polynomials, Duke. Math. J. 29 (1962) 51-63.
[10] H. Jolany, H. Sharifi, R.E. Alikelaye, Some results for the Apostol-Genocchi polynomials of higher order, Bull. Malays. Math. Soc. (2) 36(2) (2013) 465-479.
[11] Subuhi Khan, N. Raza, General-Appell polynomials within the context of monomiality principle, Int. J. Anal. (2013) 1-11.
[12] Subuhi Khan, G. Yasmin, M. Riyasat, Certain results for the 2-variable Apostol type and related polynomials, Comput. Math. Appl. 69 (2015) 1367-1382
[13] Q.-M. Luo, Apostol-Euler polynomials of higher order and the Gaussian hypergeometric function, Taiwanese J. Math. 10(4) (2006) 917-925.
[14] Q.-M. Luo, Extension for the Genocchi polynomials and its Fourier expansions and integral representations, Osaka J. Math. 48 (2011) 291-309.
[15] Q.-M. Luo, H.M. Srivastava, Some generalizations of the Apostol-Bernoulli and Apostol-Euler polynomials, J. Math. Anal. Appl. 308(1) (2005) 290-302.
[16] Q.-M. Luo, H.M. Srivastava, Some generalizations of the Apostol-Genocchi polynomials and the Stirling numbers of the second kind, Appl. Math. Comput. 217 (2011) 5702-5728.
[17] M.A. Özarslan, Hermite-based unified Apostol-Bernoulli, Euler and Genocchi polynomials, Adv. Difference Equ. 2013, 2013:116, 13 pp.
[18] M.A. Pathan, A new class of generalized Hermite-Bernoulli polynomials, Georgian Math. J., 19 (2012), 559-573.
[19] M.A. Pathan, W.A. Khan, Some implicit summation formulas and symmetric identities for the generalized Hermite-Bernoulli polynomials, Mediterr. J. Math. (2014), DOI 10.1007/s00009-014-0423-0, Springer Basel 2014.
[20] J. Sandor, B. Crstici, Handbook of Number Theory, Kluwer Academic, Dordrecht 2004.
[21] H.M. Srivastava, M.A. Özarslan, C. Kaanoğlu, Some families of generating functions for a certain class of three-variable polynomials, Integral Transforms Spec. Funct. 21(12) (2010) 885-896.
[22] S.L. Yang, An identity of symmetry for the Bernoulli polynomials, Discrete Math. 308 (2008) 550-554.
[23] Z. Zhang, H. Yang, Several identities for the generalized Apostol-Bernoulli polynomials, Comput. Math. Appl. 56(12) (2008) 2993-2999.


[^0]:    * Corresponding author

    This work has been done under Senior Research Fellowship (Award letter No. F1-17.1/2012-13, MANF-MUS-UTT9243) awarded to the second author by the University Grants Commission, Government of India, New Delhi

[^1]:    Q.E.D.

